Lecture 11: Class Exercise

Expand Experimental Design and check for threats to validity

In the second part of the class each group will describe their experimental design, possible outcomes, how interpretable each outcome is. And finally list all the threats to validity, which ones they feel most concerned about and why

Part 1:

Expand design to more than one independent variable. Identify another IV, and draw out design

Independent Variable 1:

Levels: 


1)


2)


3)

Independent Variable 2:

Levels: 


1)


2)


3)

Dependent Variable:


Measurement: 


1)


2)


3)

Part II:

Draw out various outcomes. List what inferences you could make from each outcome. (Remember null and alternative hypothesis and what inferences you can make from each)

Some possible outcomes. Go beyond these and describe outcomes for your specific research question.

Outcome 1: 

Main Effect of IV 1, Main Effect of IV2, No Interaction

Outcome 2:

Main Effect of IV1, Main Effect of IV 2, Interaction Effect

Outcome 3:

Main Effect of IV 1, No Main Effect of IV 2

Outcome 4:

No Main Effect of IV1, Main Effect of IV 2

Reliability:

How are you going to try to insure reliability? If you repeated your experiment, would you get the same results? 

Threats to Validity

a) External Validity: How much can you generalize your results? Describe in terms of time, place, people, and objects.
Does construct validity matter for your research question?

b) Construct Validity: Does your design have construct validity. What is the construct that you were trying to operationalize? Can your generalize back to that construct?

Does construct validity matter for your research question?

c) Face Validity: Do your measures have face validity.

Does face validity matter for your research question?

Content Validity: Do your measures have content validity?

Does content validity matter for your research question?

Which kind of validity matters most for your experiment?

Now go back and examine all the possible outcomes that you have listed previously. Will validity differ in some of those outcomes more than others? Why?

